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1) If 'Indica’' is the work of Megasthanese, | 1) 'QoR%’ Zmezylesse Cum §@ «ad
Fahien's literary work is FOLBIRRR TB2T T2
1) Si-yu-ki 1) ‘a-o3n 3
2) Geography 2) “Boinima
3) Tuzk-e-Babri 3) ‘BeTF—8-23000°
4) Gho-ko-ki 4) ‘Toe-dpe—8’
2) The author of 'Prithiviraja Raso' is 2) ‘FBRoon ToBee’ Q0w FICHIY, TUATRL
1) Chand Bharday1 1) 30T WTOFOW
2) Kalhana 2) 3
3) Vishaka Dutta 3) 2Z0NTY
4) Banabhatta 4) L3l
3) The officers named '"Dharmamahamathra 3) @3RI FRHEHNTORRG Q0 BRFTONTY,
were appointed by Ashoka to NewAT VT3
1) preach the principles of Hinduism ) Lowd FIFT TINITY, TweU
2) build religious centers SRTL
3) preach the principles of Buddhism 2) To0F3 FOTMYRY, AOFILD
4) collect Buddha's teachings 3) ePT FRET IR, TT TRELD
4) wd@s zﬁmezﬁéﬁ@&ol TONg RN
4) Identify the Literary works related to 4) 3 FBORINYY nond wOTY TRIRT

Ganga Dynasty.
1) Shabtavatara, Gajashastra, Gajastaka

2) Kaumudimahotsva, Haraparvatiya,
Kavirajamarga

3) Gadayuddha, Panchatantra,
Vikramankadevacharita

4) Dharmamruta, Mitakshara,
Manasollasa
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nomEnRTy, e
1) 3R[IT, NBIDF |, NRT

2) TPIVOEDIBRETT , TS TOTF SO
BTV RINE

3) RtROINT . WoWL0S, DTFPOBTIED
2303

4) FBRERZ, WITVFT, B[IRTZLCLYA




MMMS - SAT

HISTORY

5) During the rule of Hoysalas 'Garuda'

6)

7

8)

means

1) A group to collect the taxes

2) Queen's assistant

3) Officers to protect the cities
4) Special bodyguard of the king

The Chronological order of the rulers of
Rashtrakuta Dyanasty

1. Krishna, Govinda II, Dhruva, Govinda
III, Amoghavarsha

2. Govindall, Krishna, Dhruva, Govinda
III, Amoghavarsha

3. Dhruva, Krishna, Govindall, Govinda
III, Amoghavarsha

4. Amoghavarsha , Krishna, Govinda II,
Dhruva, Govinda III

Ashoka's inscriptions were deciphered
for the first time by

1. George Fabricius

2. Theodor Mommsen
3. James Princep

4. Louis Robert

Choose the correctly matched group

1. Kautilya a) Gathasapthasathi
2. King Hala b) Arthashastra
3. Vishaka Dutta  ¢) Rajatarangini
4. Kalhana d) Mudrarakshasa
1. 1-b 2-d  3-a 4
2. 1-b 2-a  3-d 4
3. 1d 2-b 3¢ 4-a
4. 1-a 2-c 3-b 4d
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5) BRoHYS BORY JeIRRORT NHT’ D0

6)

7)

8)

MOV WO

1) 30700 SRR SWBIT HOT
2) TOE80NT TTIONTT

3) INT dgﬁoja OOTOONYD

4) ©TIING DIJeR YONTTE TT

m%ﬁ@&sd MTRIE, EPT ©TTT FOCSRT
TR

L3, am8 feeod, @803
RRCNOT, ORCTRRE

2. aB Reed0T, 3F, D, SIS
RRCNOT, ORRCTRRE

3. BWIH, 9WB Feed0T, IR
RRCNOT, ORRCTRRE

4. ORRCTITEIF, ANR RRCNOT, T,
BTG 00T

930033 mmn’e;mq mgm:so 00R VR
LTI

L. PBE FLAODE
2. ABRETT BOBFHET®
3. BT, WIT

4. QRONAT ToWEFE

SUNRRHRYR, BeoD2, TOIRE ek,
3%

L. @@3@5 . TRPORTIS
2. TO% To® Q. OPFITOF
3. DT 3. CowITONES
4. 3L @. WNTR0ITA

1. -2 2-8 3-2 4-3

2. -2 2- 3-8 4-3

3. 1-& 2= 3-3 4-

4, - 2-3 3- 4-&
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11)

12)

9) 'Pharaoh’'in Egyptian Language means

1. Aperson who lives inapalatial house
2.Abigperson who lives inasmall house
3. AKingwho lives in Palace

4. Aking who built Pyramids

10) The ancient Civilizations found in

America are

1. Egypt, Inca, Byabilonia

2. Harappa, Egypt, China

3. Maya, Aztec, Inca

4. Mesopotamia, Harappa, Egypt

While Chandragupta Maurya founded
the Maurya Empire, Pushyabhuti
founded

1. Ganga Empire
2. Kushana Empire
3. Gupta Empire
4. Vardhana Empire

The Shatavahana ruler who was given
the title "Trisamudratoyapitavahana' is

1. Yajnashri Shatakarni
2. Gautami Puthra Shatakarni
3. Simuka

4. Dadiga
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9)

10)

11)

12)

33T, IODY ‘mszﬁm’ oW
2. 138, DHIHY TOVDT BRF DT,
3. TRIODNY AWET T
4. ATOTHI, DINFAT To%

©R0F DOTTY TFow> WOW T
SENSEET LS

L 3528, OB, RUWARET®
2. BT, H5VT, WeTw

3. TP, BEF, QO

4. BHRTERCTD, BTT, ST,

WOTMITIFORET TIPONT WTIRTT
m@ﬂ%mw& a@a‘aﬁm.%os» m@&md%

1. ond @i
2. BDTWT ARRR;
3. TOFT w50

4. JITET TOWI,

"ByBROTIRCODUETTHTT’ Q0w TR,
TED TTTIIT BRT

1. odz & Zogsede
2. MWOBNRYZ, To3BIE
3. 20D

4. @3@n
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13) The order in which the following events 13) 8¢ns Fusnesh, o) S8 eRITHIQ

occurred is

a) Harshavardhana's sister Rajyashree
was married to the king of Kanauj

b) Harshavardhana was defeated by
PulakeshiIT

c) Harshavardhana became the king of
Thaneswar

d) Shashanka,the king of Bengal
the king of Kanauj

l.a bcd
22b c d a
d b
b a

killed

3.c a

4.d ¢

14) If Charaka Samhita was written by

15)

Charaka , Panchasiddhantika was
written by

1. Dhanwantari
2. Sushruta
3. Aryabhata

4. Varahamihira

Identify the archeological findings
belonging to the Harappan Civilization

1. Bronze dancing girl, Torso of a man,
bath tank

2. Pyramid , Ziggurat, Nalanda

3. The Great Wall of China,
Amphitheatre

4. Bronze dancing girl, Torso of a man,
Ziggurat
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14)

15)

B2RCRATIN BOIBROTHT TR
a)

TRED BT, APCTO  TIWIORT,
BR300 T TOAN B0t TTH BIPRTI

b) =R PIedoD é)docgp IREITES

TREBRROBI

c)
d)

BREDPEI m%e%ﬁd 9OTSOIVTR

WOMST TBRIBO3HT 3T003Z I3
dmdoda&ol&modm

l.a bcd
2.b ¢ d a
3.cadb
4.d ¢ b a

2303 z)’oéoéoﬁabel oWy 30T =TT
woaémm@oéﬁws:d (oI XY atie)

1. 3Z0=0

2. D3

3. soREE3
4, TTRTN&T

TIP TondzSedh FHwd Bedd TRUFEWNE
TOOTRY, THTOS2

. 30T TSES TEWD , WIIRNT WROT/S
Te, MIT deY

2. QLTNT, ﬁﬁ;\dw‘ , DOOTV

3. 8CeT0T ST, B,TFOTT T
TON VORT, LTNT®

4. 30BT T3FE BB, [RINI BWOBT
T, BT
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16) Read the following statements and
choose the correct alternative

17)

A.

After becoming the king of Rome,
Julius Caesar declared himself as
the dictator of Rome

The republic system of Rome was
weakened

Both A and B are false
Ais false and B is true

Both A and B are correct and A is
correctreason for B

Both A and B are correct but A is not
correctreason for B

Identify the monument in this picture

16) 30 mssne:m& AEA) e.-ossos 500370
wo%@ﬁaolmam

A.

BROOHE® 2TTTT BREFIF R BRTOINT
FRESe 3’543'34 ’@5;@&35"’ DOTY
TRCIWEROTR

c’nca‘s@as’g n’sammé au‘sa‘:f’@os’oo
SORRPORD

AP B 0B X

A 3@% 38 B

A:na_zpB@dcéoxa ma_ooBﬁAorm
XOO3T0T FToTLR

A % B 20@Ee 0 £33 B A

AQSN FOO3T FoTEBY

17) 33 WIR[QTHH xR TFIRY, HTL 32

1. Pyramid

2. Ziggurat

3. Ampitheatre

4. Collosium

l. QTNT
2. BOOEF
n

3. 02T
4. seﬁme&oﬁo
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18)

19)

The gold coins of Samudragupta
depicted him playing on the veena. This
indicates

1. The trading system of those days
2. The richness of his empire

3. The production of gold during his
period

4. His passion for music

During the Gupta period Indians had a
sound knowledge of producing good
quality Iron. The best example for this is

1. Victory Pillar of Chittor

2. Ashoka pillar of Vaishali

3. Mehrauli Iron Pillar

4. Heliodorus Pillar of Bhopal

20) Vardhamana Mahaveera renounced his

family and house at the age of 30
1. in search of truth

2. as he was fed up with family life
3. to travel around the country

4. to spread religion

21) The following sources are useful to learn

about Gupta's history

a. Pillar inscription of Alahabadh.

b. Pillar inscription of Mehrauli.

c. Vishaka Dutta's Mudrarakshasa and

Devi Chandragupta
d. Deepavamsha and Mahavamsha
l.a, b, ¢, d
2.a, b, ¢
3.a, b
4.a only
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18)

19)

BIOTOTR OT WRT TEYNEY Derony,
DRT!IVE  WSIT.ATOOT 9T WIT
Clebtalelate)

L & 2OT T m@%

2. 9B OT HEP0EF

3. 0BT DOT WIT WIS

4. 23BN BONCST eSS AT, 208

yeEstel FOTOHe mioﬁo (gSlacsiX i 62%995534
3035005 6&305:534 POTIEONTy  IVRTT.
aowdg YO PUTTTTR

1. B8BReTT QROD B0

2. degemjorn w3Res B0

3. HTTRIH YT F0g

4. ZReROS TIXRERTT 0L

20) SPFIPS DTATH IF, 308cH TehaTY

21)

mﬁoﬁa’nd 358ﬁ®: S pletao)

L. 53@5?;6&“&?@

2. BomTTY am;;

3. 33 ZowT

4. [IF TIT

wo m;c’ QSTIT I
TTO0NTTOMIT SBONED
. VOTILIVD® goz,s S0R

b. BRI Foz T

C. DTPDTIT BNTTIFT ) TIED
CSlelafgNEs]

d. DeTBOT FB WDTRTOS
l.a, b, ¢c, d

2.a, b, ¢

3.a, b

4. a T

SOTWITR Q?’@@o
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22)The triratnas of Vardhamana 22) SIPERRT DTS BRHAT ITINRW

Mahaveeraare I ©&0%.88, B3 SFeod
1. Non-violence, Truth and Astheya

2. Astheya, Aparigraha and 2. SR0D, OTONT wHFH, WHHOHE
Brahmacharya 3. ARFeRS, AWFTIICT D) SZeoDd
3.izstiﬁzsl;gyan,Samyakdarshan and 4 AT ARFTIE DR
TNT 23008
4. Samyakgyan, Samyakdarshan and R =
Samyakcharitra

23) 'Dharma Chakra Pravarthana' in | 23)038 $eS803Q 'guberids IRSrs’ 2000

Buddha's life means . 9% BRTO B30T

1. His first teaching 2. OB ABEREBIZY, FWIT),

2. His nirvana 3. T VIPONT [PNE TR,

3. preaching of Eight Fold Path BREDATI

4. preaching of Middle path 4. OFD BTFI TOFI, LRI,
24) Identify this temple 24) 31 WIRYDHR BeTROCHTIRY THTHLEA

Sl e .. B ALT

1. Brihadeeshwara temple, Thanjavoor L. w@%@e%d T3eT0O0R, BOLVTIPTO
2. Kashi Vishveshwara Temple, Lakkundi 2. @ée@%@%{ﬁ TeTOOOR, @ﬁ%o@
3. Kailasa Temple, Ellora 3. %mx TR, @Qi{pq@d
4. Virupaksha Temple, Pattadakallu 4. DTNTOT TeTOOR, w@acjsm
w ™
25) 'Mesopotamia' means 25) "RRTRRCNCIN’ Q0WTT OB
1. River between two lands 1. STNT IRII IO

2. Land between the Mountains 2. BDRFING IWD 0T
3. Land between the rivers 3. JONY IRAT T
4. Land between the hills 4. zﬁ@gﬁ%ﬂ IRNT TOW
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26) Signs of ashes found in the caves of

Kurnool reveal

1. Practice of cremation during the Pre-
historic period

2. The accidents caused by fire during the
Pre-historic period

3. The method of cooking during the Pre-
historic period

4. The knowledge of fire that Pre-historic
people had

27) Identify the correct statement related to

Kushanas

1. They had migrated to India from Central
Asia

2. The founder of this dynasty was
Kanishka

3. Pataliputra was the capital of Kushanas

4. Kushans minted mainly Silver coins

Identify the temples built during the
Gangarule

1. Virupaksha Temple at Pattadakallu,
Pataleshwara temple at Talakad

2. Pancharathas of Mahabalipuram,
Pataleshwara temple at Talakad

3. Kailasa Temple at Ellora, The
Kapileshwara temple at Manne

4. The Kapileshwara temple at Manne,
Pataleshwara temple at Talakad
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26)

27)

28)

FSRFOT NANYY BHRTITIT WA
BTN BRWDI)T

L. TR 8T0% POTIT FB[IOAT THE

2. TR}3TIAT TOTY 2303000T YOERT
OTOTI

3. TR 3TAT POTYT VRN IIWOFOD
SAIADIY

4. 2030 AN TWdTORE FOT RIT

2

BSNS mﬁsﬁeécg BTHRT IR TowoRard
- felebvrin éc@%oﬁoﬁoﬁl .

L g, dTWHOT ,mdsﬁ BOR WOTII
2. F 38 ToRIBIIT ROFY TS
3. oD BITPEIT ToBHOR

4. B0 mmsémﬁ 23% meaémiﬁ%e
L30BATITO.

NoOWT wxm{ oy AW rofsow
demuoﬂ:r{@?ﬁ:& b,

. TLTFOT QORTWT  TETIOOD, TOTRT
TV

2.30TRWOT)YT  JTOBTHINR,
m@@e%ﬁ

3. 2&RTT FLOF TeTOOD, WFFONYTH
380 M

4. aﬁ:%wojacgdm 6&@@%6 dedm@& ORI
mm%ﬁez}sd zﬁedm@ﬁ '

ORI
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29) Read the following statements and 29) 3¢NT WEFNYR, LD @03 FOIRT

choose the correct alternative 0,00, BRW2

A. 'Manasollasa' was written by King A. Soetick Anededd  ‘Snsiecop’
Someshwara I11 D0 TOFTID, TWATD

B. 'Manasollasa'’is considered as B. ‘SnRteceny’ nogwm Tomd Q3dec3
Encyclopedia of Sanskrit. o223 - W

1.Both A and B are true
2.A is false and B is true
3.Both A and B are false
4.A is true and B is false

I A @3 B 20ER %0
2. A 33 W3 B R0
3. A B3 B o08» 3T
4. A %0 BT B 3T

30) The kailasanatha Temple at Ellora was 30) QERTT FRTTF TETOOBTTY

built by QLEATTITL
1. Pallavas 1. TYWLH

2. Chalukyas 2. LTB
3. Rashtrakutas 3. m@%@wdo
4. Kadambas 4. 3T[OW

31) The foremost quality of the Chola 31) £Re¥T @I TI0D T
administration was I TRRT FoDTROTIT U
1. The development ofthe self- ). BORT BOHTROTIS BIER
governance of the village R 3
2. The development of the self- 3 OEE AREORUT LS
governance of the Taluk 4. Reooow, TGSoD demesdn

3. The development of supremacy of the
king

4. The development of the Republic
system

156
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32) Match the following and choose the

33)

correct alternates

1. Pushyabhuti a) The founder
of Chalukyas of
Badami dynasty

2. Simuka b) The founder of
Kadamba dynasty

3. Mayurasharma c) The founder
of Shatavahana

dynasty
4. Raja d) The founder
Jayasimha of Vardhan
dunasty

1-b 2-d 3-a 4-c
1-b 2-a 3-d 4-c
1-d 2-c 3-b 4-a
I-a 2-c 3-b 4-d

v b=

The chronological order of the
following empires is

a. The Chalukyas of Kalyana

b. The Cholas

c. The Hoysalas of Dwarasamudra
d. The Pallavas of Kanchi

I.a b c d
2. d d a
3.d b a

4. d ¢ a b
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32) %eﬁﬁﬁ:@mémol BRONV2,BOIRT eoﬁg&oﬁaﬁa&
fgelob R

1. ma’%m\% X. VTN m@aﬁéd
n03T m@wﬁ
2. 2ND 2. WO ROST
D0 DT
@)
3. ZONRTIDE 2. JOTOT/R NO3T
D0 DT
%)

4, 0% WONROT &, RIPFI »03T
T
®
L 1= 2-8 3-o 4-3%
1= 22— 3-8 43
-8 2-3% 3-2 4-

A LN

L= 2-30 3= 4-8

33) EINT TTRFNET, FTOOWITTTY
BecRamen TORROTE TR

a. BURET 2VHFTD

b. B

c. TROATNTT BRONF
d. 300D TYRILH

I.a b ¢ d
2.d ¢ d a
3. d a ¢
4. d ¢ a b
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34) Match the following and choose the

35)

correct alternates

1. The Chalukyas
of Badami

2. The Gangas

3. The Kadambas

a. 540 C.E-753 C.E.

c. 325 C.E. to 540 C.E.

4. The Shata- d. 230 B.C.E. to 220C.E.
vahanas

I.1-b 2-d 3-a 4-c

2.1-b 2-a 3-d 4-c

3.1-d  2-¢ 3-b 4-a

4.1-a 2-b 3-c 4-d

Identify the kingdom which is shown
in this map.

Ujjayni

1. Pallavas

2. Chalukyas

3. Rashtrakutas
4. Kadambas

b. 350 C.E. to 1004 C.E.
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34)

35)

se;ns@nm BPOR2, TOST wo&:éosasoel
™

| ENDIADIAY m@)ﬁacia D) T9.3.540 —
0.3.753
2. nonR™® 2)%0.3.350—
0.3. 1004
3. 3TOWD ) %0.3.325-
%9.3.540
4. SOTTOBI 8)m0.3.530.230
%0.3.220
1. -2 2-8 3-0  4-»
2. -2 2= 3-8 4=
3. 1-& 2-3 3-0 4-
4, -2 2= 3-3 4-8

8 SRICHY ReATHLE  TWDIITIT,
w32,

Ujiayni
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36) Identify this personality

1. Shankaracharya
2. Ramanujacharya
3. Basaveshwara

4. Madwacharya

37. The first dynasty of Kannada origin to
be established in Karnataka

1. Cholas

2. Gangas

3. Shatavahanas
4. Kadambas

38) The importance of the inscription of
Kappe Arabhatta of Badami is

1. One of the stanzasisin tripadi form
2.0One of the stanzas is in dvipadi form
3. One of the stanzas is in chaupadi form

4.One of'the stanzas is in shatpadi form

36) 33 WIWOTLTTTY, IR0

= A N

[5
i
[
[

l. 30TTOWORFTD

2. TOTIOIOLIOIVORNE T
3. WRBEITL

4. HRIODED

37. 3RFRICY MTEAROR SBRTO IHTW Thewd
SEtafer

1. 23ResH

2. "onw

3. TOBTT/ID
4. ITOWTD

38) WRTWCH 3F WTPYR TITT Q3RS
L wom TTm &I 5”9363030@260@60

%ocsfowdogd

2. 2,0T0 wcs@ zgaj@ %eﬁomppo@cb
sozsawdogd

3. 2,000 wcsé@ PTH %@oﬁa@,’m@m
somwdogd

4. 20T TR TLO FOCHYTID
%oc&wdogc&

©
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39) The folk story, folk songs, folk legends,
ballads etc that pass on by word of
mouth are called

1. Written Literature
2. Inscriptions
3. Oral Literautre

4. Monuments

40) The significant contribution of the
Gangas to architecture is

1. Stupas and Basadi

2. Stupas and Manastambhas

3. Basadi and Brahmamanasthambas
4. Manastambhas and

Brahmamanasthambas

41) The correct matching of the following
is

1. The Ajanta and the a. Kadambas
Amaravathi
paintings

2 Temple (.)f b. Shatavahanas
Banavasi

3. Badami, Aihole . Rashtrakuta
and Pattadakallu
Temples

4. Ellora and
Elephanta d. Chalukyas
cave temples

1) 1-a 2b 3¢ 4

2) 1-b 2-C 3-d 4-a

3) 1-c  2-b 3-d  4-a

4) 1-b  2-a 3-d 4
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39) w00 z.,agpﬁ WOONTIST TROT TOTD
WORTIT  BP, Comed, NIT;,  WPITT
ﬁcén’@aﬁad et 33030[TDH

1. 903 méo%
2. JORIND

3. BRDT LT,
4. m@cﬁﬁmﬁo

40)

oy

TR0 NOnS D5 deIrokoRS
T I EOND

T DD 20T BRFHOET
WAL I, WF, FPTIOHFAD

. 2303 BRIFOF DI, WF

BRBIOFT

_
&
b

Lgb

CCEEN

41) ENIYNER, JeoRaten 0 JeoTHH

DR

1. ®%03 533_30 a. FTOWT
OTNTWSOD 233FSNED

2. WTTOA0D TIeT0O0R b. 0303 ID

3. 2T, NJRY, w&gcj C. m%&@é&do
BRY TemOoD =

4. 2dpes G d.me:oﬁécso
ROFONEG TeTOOD

1) l-a 2-b 3-c 4-d

2) I-b  2-c 3-d  4-a

3) I-c  2-b 3-d  4-a

4) 1-b  2-a 3-d  4-c
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42) The correctly listed places shown in

42) 33 SP30NY MTLATLT rg;m% TOO3T
this map

RO 11017 CUTLINE ]

1) A-=00w00 B-Too&Eed

1) A- Mumbai B- Pondichery
C- Kolkota C-dnegeo

2) A- PondicheryB- Mumbai 2) A-smo@ied B-:002000
C- Kolkota C-3nree@o

3) A-Kolkota B-Pondichery 3) A-3pegEe  B-wmoofided
C- Mumbai C—=0000%

4) A- Mumbai  B- Pondichery 4) A-T00wed B-mmotco
C- Chennai

C-a83y

43) The period from 12,000 years to around 43) TR 12,000 TTENS 200000 R

10,000 years is called the delicate stone
tools because

1. The stone weapons of this period were
generally very small

2. People knew how to carve the stone
3. Knew the use of small stones

4. The stone weapons were very sharp

10,000 Z[IFnS=INT mowmq n’.@#ﬂé
SCROZNNTIOT FSONEH TTED

L. 85 OT SCOOINTT ARTPIFON
©8 WINTY)

2. 53R BT 323 BIRTSTF T
3. xsg OSBNY WL Chatc]
4. 50030 NRY 563@?\&%@@
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44) The correct matching of the following is 44) i@éﬁ;:‘pﬁ@:& TpoRTRA X0 B0
4o
. . 1. 3e83-& a. TOWMRT
1. Kshetrasya Pathi  a. Singer @=3
2. Devi Sita b. minor house 2. D) Aew b. T
deity 3TTIeR3
3. Vastosh-pathi c. God of plough 3. RRRLT-T C. JeN® TeD
4. Udgaathri d. God of 4§00 d. osh 5Re3
cultivation R
1l-a 2-b 3-¢c 4-d )l-a 2-b 3-c 4-d
2)1-d 2-¢c 3-b 4-a 2)1-d 2-¢c 3-b 4-a
3)1-c 2-b 3-d 4-a 3)1-c 2-b 3-d 4-a
4)1-b 2-a 3-d 4-c 4)1-b 2-a 3-d 4-c

45) During the Rigveda period 'Hothru' mean
1. The King who fought war

2. The helping Minister

3. The priest who conducted the Yagna

4. The dancing Queen

46) The increased use of oxen in agriculture
during the post-vedic period is indicated in

1.Yajurveda Sambhita
2. Rigveda sambhita
3. Samaveda samhita

4. Atharvana samhita

47) The Hwang Ho river was known as 'China's
Sorrow' because

1. this river dried up often
2. it caused frequent floods
3. it got polluted often

4. the animals were swallowed by it
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48) To ward off the attacks of invaders from

the north Qin Shihuangti took this
important step

1. established military sytem
2. established the spy system
3. built strong fort

4. Built the Great Wall

49) After the Kalinga war Ashoka decided

50)

not to wage war any more, because

1. He was disturbed by the deaths and
the pain of the battle

2. He faced severe loss due to war

3. He was cheated by his soldiers
during war

4. He was defeated in the war

Read the following statements and

choose the correct alternative

A. Aihole is considered as the cradle of
temple architecture

B. Evolution of the series of temples
architecture was first experimented at
Aihole

1. Both A andB are false

2. A is false and B is true and B is not
correct reason for A

3. Both A and B are true and B is correct
reason for A

4. A is true and B is false and B is not
correct reason for A
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Key Answers

HISTORY

BPO |wvgoriss| BAo |wvdonww| BAC. |evdoned| TR0 | cwIshed| TRO | cv3shed
1 4 11 4 21 2 31 1 41 4
2 1 12 2 22 4 32 3 42 1
3 3 13 3 23 1 33 3 43 1
4 1 14 4 24 1 34 4 44 2
S 4 15 1 25 3 35 3 45 3
6 1 16 3 26 4 36 2 46 1
7 3 17 2 27 1 37 4 47 2
8 2 18 4 28 4 38 1 48 4
9 1 19 3 29 1 39 3 49 1
10 3 20 1 30 3 40 4 50 3
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1)

2)

3)

4)

Choose the correct chronological order
of the formation of institutions of Human
Rights protection

a) National Human Rights Commission

b) National Commission for Minorities

¢) National Commission for Schedule Caste
d) National Commission for Women

1) a b c d
2) a c b d
3) d c b a
4) d b a C

Secretariat is considered as ‘the Nerve-
Centre of the government’ because it

a. Frames the regulations of administration
b. Frames the policies of government

c. Works independently from legislature

d. Prepares the Budget

1) a,bandcaretrue, d false

2) a,candd aretrue, b false

3) a,banddaretrue, c false

4) b,cand daretrue, a false

Article 356 of the Indian Constitution is
enforced at the time of

1) Natural disaster in a state
2) Criminal activities in a state
3) Change of Government

4)Constitutional failure of State
Government
The expanded form of I.A.A.S is

1) Indian Administrative and Auditing
Service

2) Indian Accounting and Auditing Service

3) Indian Accounting and Administrative
Service

4) Indian Accounting and Advisory Service
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S)

6)

7)

8)

An employee undergoing training while
on duty is

1) Informal training

2) Formal training

3) Background training
4) Skill training

The Chairman and members of the
National Human Right Commission are
appointed by

1) The Chief Justice of India
2) The President of India

3) The Prime Minister

4) The Union Home Minister

The Smallest electoral division in the
urban areais called

1) Sections

2) Constituencies
3) Booths

4) Wards

Match the following and choose the
correctly matched group

1) Grama Panchayat A. The

Commissioner

2) Zilla Panchayat  B. The Chief
Officer

3) City Municipality C. The Panchayat
Development
Officer

4) City Corporation D. The Chief
Executive
Officer

1)l1-A 2-B 3-C 4-D

2)1-B 2-C 3-D 4-A

3)1-C 2-D 3-B 4-A

4H1-D 2-A 3-B 4-C

5)

6)

7)

8)
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2)1-B  2-C  3-D 4-A
3)1-C 2D 3B 4-A
4H1-D 2-A 3B 4-C
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9)

The effect of the ‘bloodless revolution’
0of 1688 in England was

1) Independence was declared
2) The Power of the king was reduced
3) Bill of Rights was implemented

4)Republic form of government was
established

10) Statement 1: Modern State is called as

11)

‘Administrative state’

Statement 2: Public Administration is
essential for holistic development of
human society.

1) Both the statements are correct and
statement 2 supports statement 1.

2) Both the statements are wrong

3) Both the statements are correct but the
statement-2 does not supports
statement 1.

4) Both the statements are correct but they
are not interrelated

The effect of the signing of the ‘Magna
Carta’by the King of England is.

1) The people gained the rights to have
private and ancestral property.

2) The church started interfering in
government administration.

3) Thepeople lost their rights

4) Some ancient traditions were enforced
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12)

13)

14)

15)

According to Pifnar, Public Admini-
stration is

1) the holistic and orderly implementation
oflaw

2) the consolidation of community
initiatives in implementing public
policies

3) the executive of the government

4) part of the government that runs day to
day functioning of the state

The meaning of the Greek term ‘polis’is
1) State

2) People

3) City-State

4) Country

The Father of Public Administration is
1) Woodrow Wilson

2) Pifnar

3) Luther Gulick

4) Alexandar Hamilton

‘The Politics’ was written by
1) Plato

2) Aristotle

3) Socrates

4)Kautilya
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16) Choose the correct statements showing

17)

18)

the importance of political science

a) Provides information about the
structure and functions of government

b) Political Science
Science

is an independent

c) Explains the importance of inter-
national peace and co-operation

d) Explains social behavior
1) a and b only
2) a and d only
3) a and ¢ only
4)b and d only

The right to property was removed
from the list of Fundamental rights by
the following constitutional
amendment.

1) The 41stamendment
2)The42nd amendment
3)The 43rd amendment
4)The 44th amendment

Identify the difference between Funda-
mental rights and Human rights

1) Human rights are narrow. Fundamental
rights are broad.

2) Human rights are protected by law.
Fundamental rights are not protected
by law.

3) Human rights are not protected by law.
Fundamental rights are protected by
law.

4) Human rights are complementary to
human development. Fundamental
rights are not complementary to human
development.
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19)

20)

21)

22)

Karnataka Public Service Commission
was established in

1)1950
2)1951
3)1952
4)1953

The term of office of the members of the
Union Public Service Commission

1) 6yearsorthe age of 65 years
2) Syears orthe age of 60 years
3) 6years orthe age of 60 years
4) Syearsortheage of 65 years

The main objective of the formation of
local government is

1) Decentralizing power
2) Centralizing power
3) More power to states

4) Increase tax collection

Which of the following is not a source of
income for the local government

)]

Financial grants of the state
government

2) Financial grants of the central

government
3)
4)

Rental amount from properties

Market tax
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23) The importance of 73rd and 74th
constitutional amendments is

1) Enforced Directive principles of state

2) Provided constitutional status to local
government

3) Introduced panchayat Raj system

4) Local government got more grants

24) The term of office of the Mayor is
1) Syears
2) 6years
3)2years
4) 1 year

25) Choose the appropriate fundamental
right that fills in the blank circle given

Right to
Equality
(from article
1410 18)

Right to
Freedom
(from article
19 t0 22)

Part 11T
Fundamental
Rights

Right to

Cultural &
Educaional
Right

(from article
29-30)

230 24)

Right to
religious
freedom
(from article,
25 to 28)

1) Right to contest in the election
2) Right to constitutional remedy
3) Right to Property

4)Rightto vote
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26)

27)

28)

29)

Education has been made a funda-
mental rightin the Constitution by

1) 82nd amendment
2) 84th amendment
3) 86th amendment
4) 88th amendment

Lord Rippon is considered as the
‘Father of Local governments’ because
he

1) worked for the development of Local
self government

2) spoke about the importance of local self
government

3) gave constitutional status to local self
government

4) passed a resolution for the formation of
local self government

The Population necessary for the
formation of gramapanchayathis

1) 5000 to 7000
2) 5000 to 10000
3)3000 to 7000
4)7000 to 10000

Commerce helps the government
directly by

1) Through the production of goods
2) Imposingrestrictions on consumers

3) Income of paying rates, taxes and
duties

4 Through the study of economic
activities
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30) Thebest example for a profession is
1) Agricultural labourers
2) Farmers
3)Traders
4) Lawyers

31) Which of the following is not helpful
for trade

1) Banking

2) Insurance

3) Ware house facility
4) Tax

32) Choose the correct alternative of the
problems of the Barter system

a) Lack of double co-incidence of wants
b) Difficulty of division of some goods
c) Easy transportation of goods
d) Introduction of use of money

1) a, b correct ¢, d wrong

2) ¢, d correct a, b wrong

3) b, ¢ correct a, d wrong

4) a, d correct b, ¢ wrong

33) Statement 1: Britains’s industrial
revolution resulted in major changes in
trade and commerce

Statement 2: Large scale production led
to opening of international market

1) Both the statements are correct and
statement 1 supports statement 2

2) Both the statements are wrong

3) Both the statements are correct but the
statement 1 does not supports statement
2

4) Both the statements are correct but they
are not interrelated
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34)

Match the following and choose the
correct answer

1) Primary Industry
2) Construction Industry B) Manufacturing

A) Carpet weaving

footwear

3) Cottage Industry C) Dairy farming

4) Small scale industry D) Construction of
Roads

)lI-A 2-C 3-B 4-D

2)1-B 2-D 3-C 4-A

3)I-C 2-D 3-A 4-B

41-D 2-A 3-D 4-C

35) Thebest example for Entrepot trade is

36)

1) England
2) America
3)Holland
4) Singapore

One of the following traders supplies a
few goods to the consumers at their
doors

1) Peddlers

2) Wholesale traders
3) Footbath sellers
4) Market sellers

37) TheActive partners mean who

1) Invest capital and do not participate in
day to day business

2) Invest capital as well as participate in
day to day business.

3) Neither invest capital nor participate in
day to day business

4) arebelow 18 years and share the profit
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38)

39)

40)

41)

Advantages of the sole trading concern
is

1) Limited managerial ability
2) Started by own capital

3) Burden of responsibility on a single
person

4) Cannot expand the business

Identify the private sector organi-
zations among the following

a) Soletrading concerns
b) Co-operative Societies
¢) Hindu Undivided family firms

d) Joint stock companies

1) a and c¢ only
2) b and c¢ only
3) b and d only
4) a and d only

An anti-social practice in business to
earn profits is

1) Sale of goods

2) Adulteration of goods
3) Exchange of goods

4) Distribution of goods

Which bank is responsible for printing
of paper money

1) Reserve Bank of India

2) Central Co-operative Bank
3) Nationalized Banks

4) NABARD

38)

39)

40)

03RS [Tedesg FTTed z:o:%oﬁ: WHBROI
1) 2e0T ST FPTOMD

2) AOT WOTBHFLOT TWTOP

3) 2.2)3 306 %R 00D BRT

4) mﬂ@ojaag TRBFTON LI BF

IINIYNYY =N Sonzd zoauﬁmﬁaﬁd
oy

a) D3V TR,

b) ZXF0 FOTNEH

C) &%0TR VNLPE BEVOW xoﬂ@
d) 30T oY Ro%)

1) a =5 ¢ =»g
2) b ™3 c In
3) b =z d =eg
4) a B d =0

3 NPT SHOWNOT TIVTWT BTIVWFToI0T
HFETT

1) B SRoew
2) BHNY BT
3) BRAY ARTOD
4) SHRNY DITH

41) DNTT JEOTRY, TPRRAT WO B

WROERT

1) $008e0 axwrmsos*
2) 8¢03 ATTO 0T

3) UO%@%@ msoﬁarieéo

4) I
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42)

Match the following and choose the
correct answer

1) Karl Marx A) The Economy and
the Society
2) Emile B) Positive Philosophy
Durkheim

3)Augustcomte  C) Das capital

4)Max weber D) The Division of
Labour in Society

1) 1-B 2-A 3-D 4-C

2) 1-D 2-B 3-C 4-A

3) 1-C 2-D 3-B 4-A

4)1-A 2-C 3-A 4-D

43) Emile Durkheim defines sociology as

44)

1) The Science of social institutions
2) The Study of social behavior
3) The Science of invariable laws

4) The study of society

The person to prove that education can
overcome exploitation and discri-
mations in society was

1) A.R.Desai

2)G.S. Ghruye

3) M.N. Srinivas
4)Dr. B.R. Ambedkar

45) Ideas, beliefs, values belongs to this

group
1) Material culture

2) Non-material culture
3) Natural culture

4) Religious culture
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42)

43)

44)

45)

%@ﬁﬁ@ﬁ@éﬁoﬁz TOO3RN RROVATT LVITNY

oz

1) R FSRTE A) QBRTW 0T T
RRARS

2) 2NOBEBERF B)  BRAT QeI

3) Bna7 T C) = maue

4) IRE Swe D) O 2axT oF
SR Al NC I
1)1-B 2-A 3-D 4-C
2) 1-D 2-B 3-C 4-A
3) 1-C 2-D 3-B 4-A
4) 1-A 2-C 3-A 4D

QWO B3 SR 55&&%3}5% 33 0c8
mﬂmﬁm@p.

1) Doxm03s :'Joz’éﬁe; &m@ﬁe szm%i
2) mOWPBT FIFIOI 9 0NITe
:3&3@2;%2

QORTNST LFTES &mﬁ&de szzﬁ,mi

pSIventt 6255033556 RBIRTOA,

3)
4)

TIRRWYTIT FReXT, ITTI,
dau?ﬁémfﬁad 93T WVE TOTRELT
wdsﬁcﬁ:ﬁa& D2 BRCOATTTL.

1) «.3T°. TemN

2) BT, TOODE

3) 0.7 eI

4) 0. 0.ST. @oaﬁezsécf

B¥o3Insd, TowdIN, 5330571@3 3 NS
oo ZedsE.

1) 5P83 %07, ¢

2) ©5R8T TOR 3
5

3) 3RNET 50"’%@3

4) oNET ;so:% 3
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46) The appropriate Statements indicating

importance of culture are

a) Provides social knowledge

b) Enqourages economic activities in
society

c) Defines values

d) Develops political consciousness in
Society

1)a and ¢ only

2) a and d only

3) b and only

4) ¢ and d only

47) Statement A: The famihy nurtures the
es

48)

children and school provi

knowledge to
children.

Statement B: The social institutions are
interrelated

1) Both A and B are correct, statement A
supports statement B

2) Both Aand B are false

3) A is correct B is false, statement A not
supports statement B

4)Bis correct Ais false

The proper order of development of
human society is

1) Hunting and gathering society, pastoral
society, agricultural society, Urban
society

2) Urban society, Agricultural society,
pastoral society, Hunting and gathering
society.

3) Pastoral society, agricultural society,
Hunting and gathering society, Urban
society.

4) Hunting and gathering society, pastoral
society, Urban society, Agriculture
society.

46)

47)

48)

Tom ok BIITW, TewHT HOGRT

Jeosned

a) O S0I) FWREF IRIRI, CWIT.

b) :Ja’mua BHFT WRITWINTIY,
BRLTVLATT.

¢) FOF, $030 BPORTI), HBORIT

d) FTRRTY Tomseory T 030TY,
YW,

) a =D ¢ B[R

2) B d =e

3) b =H ¢ =N

4 ¢ R 39,

ReOF Al BE1OW ms&e; W@écﬁ:a%%l BReRs
2HRT3 TSN s:g@ﬁ m@ﬁa‘b %dﬁ»ﬂgﬁ.

Jewd B moRw3 "oz’éﬁ% Celoy o Rt
xouo;‘iwﬁa BROQTHIE.

1) A @ B 20 F003WNT, A 030 B R
ZRTETONS

2) A ) B 20BR 3T
3) A ROB I A o BAR TRITDNY
4)BHo A I

TTRE  APIT G TOO3RT
OTT

1) Beed =B ©T0
BTOOTD  BTI,
apvet

JINT AB®, TN ADRE, DHTOIOTD
AT,  3eEd WP ©TOT  FORHED
B0

BRTPOT®  RIPW, T NS, el
BB $TT  BONTBTO  ABWE, MO
TR0

3egd T BTT RONTHTD  RTIW,
TTPOTW  ARPR, JNT ARPR, FA
NSt

IFone

IFBO  AwIOR,
2RIV, SN

_)
Ronmme
9

ﬁe)w

2)

3)

4)
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49) The woman sociologist of India Smt. C. 49) RTIT D IIRERIHDT  Hh

Parvathamma belongs to 2. TRTF B TP
1) Maharastra 1) mmm@mm
2)Kerala 2) 3eTLTITD
3) Karnataka 3) BOFEIBTTID
4) Tamilnadu 4) BNFTORTWE
50) Zamindari system was introduced 50) mRETYO TW 030 VWU ROTY
during the rule of YONTOTON D
1) Moghuls 1) FpeFOTD
3) Bahamani sultans 2) TR DSOIT
4) Delhi sultans 3) THO BRI

5)Rajapuths 4) SEBHIH
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KEY ANSWERS

SubjectPOLITICAL SCIENCE, SOCIOLOGY AND BUSINESS STUDIES

Q.No.| Key |Q.No.| Key [Q.No.| Key |QNo.| Key |Q.No.| Key
1 4 11 1 21 1 31 4 41 1
2 3 12 2 22 2 32 1 42 3
3 4 13 3 23 2 33 1 43 1
4 2 14 1 24 4 34 3 44 4
5 1 15 2 25 2 35 4 45 2
6 2 16 3 26 3 36 1 46 1
7 4 17 4 27 4 37 2 47 1
8 3 18 3 28 1 38 2 48 1
9 3 19 2 29 3 39 1 49 3

10 1 20 1 30 4 40 2 50 3
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1) Indian Standard Time is ahead of 1) o088 $uIredodny Nea” Qe Fednos
Greenwich Time by ST, TIOH TooRBHIH
1) 4 hours 1) 4 riowd
-
2) 4 hours 30 minutes 2) 4 o% 30 Dt
, 3) 5 1ot 30 DR
3) 5 hours 30 minutes
4) 5 ot
4) 5 hours
2) The largest and deepest ocean of the 2) TWOUW ¥ TAT I WFHT NS
world is
1) Pacific ocean 1) $aT HTIFONAT
2) Arctic ocean 2) B35 DTOTONT
3) Atlantic ocean 3) ©EYOLIT FTITONT
3) Indian ocean 4) 0TR FTIRNT
3) Thebiggest continent on the earth is 3) YW FedT ¥ oT TRE T
DoEHowd
1) Europe
1) cdndees®
2)Africa 2) s
3)Asia 3) v,
4) Australia 4) 833D
)
4) 66"2° North Latitude is called as 4) 66%° wIT ©FWOTIT, WEROWD

1) Tropic of capricorn
2) Tropic of cancer
3) Antarctic circle

4) Arctic circle
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3)

6)

7

8)

Earth is called ‘Geoid or oblate
spheroid’because

1) Earthis bulged at the poles and is flat at
the equator

2) Earth is bulged at the poles and equator

3) Earth is flat at the poles and bulged at
the equator

4) Earth is flat at the poles as well as the
equator

Which of the following is called ‘Land
Hemisphere

1) Southern Hemisphere
2) Northern Hemisphere
3) Eastern Hemisphere

4) Western Hemisphere

The Country which has the highest
number of time zones in the world is,

1) Canada
2) America
3)Russia
4) Australia

Distance between two consecutive
longitudes decreases gradually as they
near the poles. This is because

1) The Longitudes drawn from North to
South

2) Meridians of longitude converge at the
poles

3) Earth is spherical in shape

4) Longitudes are drawn perpendicular on
globe
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3)

6)

7)

8)

z;xa&:o&:mq ‘mmsﬁd’ WP RRCTITT’
NOTH FTTONCL T

1) HANCID PIAY W9 WHTOID,
ATERET BIT WO BTN

2) ZRC3N WS WPORR  ToNR
ATLRWRT BIFT DTBR FBWOIW emag)d.

3) PRI PINAY W9 BTN,
ALRRT JIFT WY emz‘%wo\%d

4) PRI PINWD B FSEPRT [T
DTT FWOR WTLIOITPNT

FNIINTY BRI ‘BrIFesnAcToRs’
NS

1) BeoripeToTE
2) YUSTRRCTITE
3) BRBFRRCTFE
4) BYDRRCTTE

TToURY a%as% 5@%5@0&:71@5534 RBROTIN
B3e3

1) 33w
2) ©9330e0%0
3) T,

4) s3ed03m®

RN @R Beemod Beseodne SR
9038 s@d;ommg ﬁmmgd. mg Eoletan)

1) Sepogne¥my, wWITHOTW dgwﬁé
QRBORONT.

2) Bea003NH RBNYY xo@m:gd
3) PRIV RPCTOTITEONT

4) TeagpoznF, ©OWTIN FRWOD Hed
QNBORONT.
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9

10)

11)

12)

The uppermostlayer of the earth is
1) The crust

2) The mantle

3) The core

4) Lithosphere

If granite is an example for Igneous
Rocks, an example for sedimentary
rocks is

1) Diorite
2) Basalt
3) Andesite

4) Gypsum

“Mount Etna” volcano is found in
1) USA (America)

2) Italy

3) Philippines

4) Tanzania

Mass of ice or snow is pulled down by its
weight and due to the force of gravity.
This is called

1) Snowfall
2) Out wash
3) Glacier

4) Cirque
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9)

10)

11)

12)

BRNCH WS dsw% N JIWSH
1) BR3TS

2) sméo@w@

3) georriecy

4) doonney

¥N2SNeR MFE® WITTBOIRTT,
3002SNOR PVTTH

) zsofifaez%&sf
2) 2T

eJd
3) eﬁoc%ﬁéw
4) 23330

* ot wwRsnd YoE Be3
1) ®3oeds

2) aud

3) sp@ﬁéa:

4) 32023035

LW ToHOYM a’a‘ol WRT TONR
mdoa?sm?%omod QFeNwN mzﬁa@dﬁa&
LGSR

1) &VT03

2) HIWBO B
3) HLIIO

4) &Wones
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13)

14)

15)

Match the following and choose correct
setof answers.

A B

1) The definite path a) Source
of the river

2) The place where b) Course
river takes birth

3) The point where c¢) Confluence
river meets the sea

4) The point where d) mouth
Tributary joins the
the main river

Answers

1)1-c 2-b  3-d 4-a

2)1-b  2-a 3-d  4-c

3)1-d 2-c 3-a  4-b

4)1-a  2-d 3¢ 4-b

The important land forms created by
denudation work of wind is

1) Mushroom Rock, Rock pedestals, Sand
dunes, Loess deposits.

2) ‘V’ shaped valley, Alluvial fans, delta,
deposition flood plains.

3) ‘U’ shaped valley, Arete, Rock steps,
Hanging valleys.

4) Lapies, sinkholes, lime stone caves,
stalagmites

The internal part of earth’s crust is
called ‘SIAL’ because it contains

1) huge amount of silica and Aluminum
2) huge amount of silica and Magnesium

3) huge amount of Magnesium and
Aluminum

4) huge amount of Magnesium and nickel
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13)

14)

wnaq)mm& BRoK TOWRE YT @O
W30%0.

A B

1) 36 OO TIene 2) S0 PO

2) 3B mﬂ@aﬁ@@%ﬁ b) SQcH =g
R

3) IO BTN BeTT c) Ton=n
won

4) 2.0 IO DBROT d) Itz=0D
OO, AehTHY

VT

1)1-c 2-b 3-d  4-a

2)1-b 2-a 3-d  4-c

3)1-d 2-c 3-a  4-b

4)1-a 2-d 3-c 4-b

=Rh3ns sholcw:a TOONFROT  dowe3—
ST PR gmam%ocss

1) Soo3R:E, dwoes, mdo%@%mmfo,
SReONE daéms.

2) 'V’ ow0n 3edE, DI Wemnedd,
BRDWPRWW, BB OB

3) ‘U’ <5033 3edes, NOZON, SCZecwos,
BRTOTEIES.

4) SeQTF, DOV, DOBT® THT, BT

15) @R DO/WRY DOTLRT Ho FEWRT,

2,035 OT FBONEH FTTED

) TET IIReTY 2OT  WOTY
BORINIONO BROQTVTT
D 2 — < 2 2 2 )
2) TYT TIwesQ 0T [T

BN TR0V

3) BPI TRWRTY  BIRNEION0 D)
BORENIONOC BROQTVTT

4) BT BBRTY TRNEWON0 B
LIS elelalesby]ay
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16) Thelowestlayer of the atmosphere is 16) ROINTORVT W03 E$TT
1) Mesosphere ) 53@35036 OB
2) Troposphere 2) TOBIF T OB
3) BReE OB
3) Stratosphere ) Ay
4) QUFT0 WOTO
4) Thermosphere

17) Correct matching of the country and 17) Qg =03y $TIFTRTSNE  W003IRT

cyclones are Booweedd
A B A B

I)Japan  a)Whirlpool hams  a) doEmec

2) America b) cyclone 2) 5e08 b) %5ees

3) India c¢) Hurricane

4) Russia d) Typhoon 3) %003 ) @oge
4) o=, d) &mez

1)l-c 2-b 3-a 4d )l-c 2-b 3-a 4

2)lI-d 2-¢ 3-b 4-a 2)lI-d 2-¢c 3-b 4-a

3)1-a  2-d 3-c 4-b 3)1-a 2-d 3-c 4-b

4)1-b 2-a 3-d 4-c 4)1-b  2-a 3-d 4-c

18) Lines drawn on the globe connecting 18) 0Tt TTRNHT WIW TROITLE Ny,
places having same pressure are Fe0Teo HECHTRNTT SesdnFons

1)) Sdrae*egéwjmﬂo

1) Isotherms
-
2)Isobars 2) BT Beadnsd
3) AT[RE Seabdned
3) Isohyets

4) TINBLRONE Tesdned
4) Isohels
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13)

14)

15)

Match the following and choose correct
setof answers.

A B

1) The definite path a) Source
of the river

2) The place where b) Course
river takes birth

3) The point where c¢) Confluence
river meets the sea

4) The point where d) mouth
Tributary joins the
the main river

Answers

1)1-c 2-b  3-d 4-a

2)1-b  2-a 3-d  4-c

3)1-d 2-c 3-a  4-b

4)1-a  2-d 3¢ 4-b

The important land forms created by
denudation work of wind is

1) Mushroom Rock, Rock pedestals, Sand
dunes, Loess deposits.

2) ‘V’ shaped valley, Alluvial fans, delta,
deposition flood plains.

3) ‘U’ shaped valley, Arete, Rock steps,
Hanging valleys.

4) Lapies, sinkholes, lime stone caves,
stalagmites

The internal part of earth’s crust is
called ‘SIAL’ because it contains

1) huge amount of silica and Aluminum
2) huge amount of silica and Magnesium

3) huge amount of Magnesium and
Aluminum

4) huge amount of Magnesium and nickel

13)

14)

wnaq)mm& BRoK TOWRE YT @O
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A B

1) 36 OO TIene 2) S0 PO

2) 3B mﬂ@aﬁ@@%ﬁ b) SQcH =g
R

3) IO BTN BeTT c) Ton=n
won

4) 2.0 IO DBROT d) Itz=0D
OO, AehTHY

VT

1)1-c 2-b 3-d  4-a

2)1-b 2-a 3-d  4-c

3)1-d 2-c 3-a  4-b

4)1-a 2-d 3-c 4-b

=Rh3ns sholcw:a TOONFROT  dowe3—
ST PR gmam%ocss

1) Soo3R:E, dwoes, mdo%@%mmfo,
SReONE daéms.

2) 'V’ ow0n 3edE, DI Wemnedd,
BRDWPRWW, BB OB

3) ‘U’ <5033 3edes, NOZON, SCZecwos,
BRTOTEIES.

4) SeQTF, DOV, DOBT® THT, BT

15) @R DO/WRY DOTLRT Ho FEWRT,

2,035 OT FBONEH FTTED

) TET IIReTY 2OT  WOTY
BORINIONO BROQTVTT
D 2 — < 2 2 2 )
2) TYT TIwesQ 0T [T

BN TR0V

3) BPI TRWRTY  BIRNEION0 D)
BORENIONOC BROQTVTT

4) BT BBRTY TRNEWON0 B
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21)

22)

23)

24)

Statement A:- convectional rainfall is
called ‘afternoon rain’

Statement B:- rising air cools and gets
saturated and condensation leads to
rainfall.

1) Both the statements are correct but
statement ‘B’ does not explain ‘A’

2) Both the statements are wrong

3) Both statement ‘A’ and ‘B’ are correct
and ‘B’ explains ‘A’

4) Statement ‘A’ is wrong and statement
‘B’is correct

The Gulf stream is the ocean current
originating and flowing in

1) Pacific ocean
2) Indian ocean
3) Atlantic ocean

4) Arctic ocean

The tides that occur on New Moon and
Full Moon are called

1)High tide
2) Low tide
3) Neep tide
4) Spring tide

Semi-circular water bodies partially
surrounded by land are called

1) Gulf
2)Bay

3) Strait
4) Isthmus

186

21)

22)

23)

24)

Deod A - TOXT 5:%30335:9Z ‘@wm@ ovel-i
assdm*b.

Tewd Bi- wo3xT IWeaInvY oI
TPIROT  DeT> BRI, [RerTeN
DITT et Do,

1) Q0B TewInen 0. ST Tevd B o3
A T BR% QTTRODY
2) Bevd A D) BewE B TR BTN

3) Bewd A oD BOONT, IJewd B 0w
AT 308 QTTBOIPATS

4) Bewd A oI TN, Tewd B o
FOCITNT

AeY, 300 TmER wonebreck TR
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1) AT ToNT

2) 0TR TVIONT
3) ©ExoLss® s
4) 83T TNT
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)] adazgp

2) fa@?mz%d
3) B ¥0T
4) 03 emagp
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1) a0
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25) The figure given below is related to 25) 391 ERTHT WI) BOWORAT)

1) RS BB
2) TS IIT HRFTATAD

3) BINTT VST

4) S0 ROBCHBOOTRT HRTTET

1) Ocean currents
2)Relief of the Ocean floor

3) Seawaves

4)Relief of the river course <
26) Average salinity of the ocean water is 26) erS QST BTREO ORZAD TR
1)35 ppt 1) 35/000
2)20 ppt 2) 20/000
3)25 ppt 3) 25/000
4)30 ppt 4) 30/000
27) The natural pollutant among the 27) SRNSY 2.0 TRDT TRIF, TTFTNT.
following is 1) 2eomR D
1) Volcanoes 2) w3t Tud
2) Nuclear power plants 3) jTTO, IR
3) Domestic waste 4) Zwodne SvR IR

4) Industrial waste
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28)

29)

30)

31)

Effects of water pollution are
a) Green House effect

b) Spread of epidemics diseases
c¢) Ozone depletion

d) Death of aquatic life

1) a,b,c arecorrect

2)only b and d arecorrect
3)only a and c are correct

4)a,b,cand d all are correct

Acid rain refers to

a) Acid itself pouring as rain

b) Rain water is converted in to Acid

¢) Rain drops are turned into black colour

d) Acids get absorbed in rain drops and fall

It is our duty to protect ozone layer.
Identify the supportive statement

1) We can prevent the extinction of
organisms

2) We can prevent greenhouse effect

3) We can maintain the balance of
atmospheric temperature

4) We can prevent occurrence of acid rain

The people using goods and services are
called

1) Producers

2) Consumers

3) Distributors
4) Retail Traders

188

28)

29)

30)

31)
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b) T0TENE BRENNE BTN

c) &BReT Beeod
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2) b d Boo3NT

3) a B ¢ [P FOOIPNT
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1) e TCIPA FOOIVIT

2) B¢ DD BTN BOBF BRART
3) ¢ BN IDEYE, SOTOPT
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TOFOIPROR T
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32)

The core of Economic activity is
1) Production and distribution

2) Earn Income and spend

3) Marketing and exchange

4) Earn Income and save

33) “Economics is the study of people in the

34)

ordinary business of life” This
definition has given by

1) Alfred Marshall
2) Samuelson

3) Adam Smith
4)A.C. Pigou

Identify the aspects studied under
Macro Economics

1) National income, total national
consumption expenditure

2) Inflation or pricerise

3) Unemployment, economic growth and
development

4) Decisions of individuals, households
and business firms

1)1, 2, 3, 4 allarecorrect
2)only 1, 2, 3 arecorrect
3)2and3 are correct

4)3and4 are correct
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35)

36)

37)

38)

Statement A:- Robbery, smuggling and
such others are ill legal activities

Statement B:- Although individual
earns income, those are society harmful
and hinder economic progress of the
country

1) Both statements are correct, statement
B is correct explanation for A

2) Statement A and B is correct. But
statement B does not explain statement A

3) Both statement A and B are wrong

4) Statement A is wrong. Statement B is
correct

Father of Economics is
1) Adam Smith

2) Aristotle

3) Herodotus

4) Woodrow Wilson

One of the characteristic features of
developing countries is

1) National income is high
2) Adoptnew production technologies

3) Importance to secondary and tertiary
sectors

4) Only primary sector is predominant

Correct statement related to capitalistic
economic system among the following is

1) Consumer is sovereign in the economic
system

2) There will be no class conflict

3) Government takes decisions for the
welfare of the people

4) Thereis collective ownership of wealth
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39)

40)

41)

42)

The group of institutions which regulate
modern. economic system is

)NITI AYOG, IMF, UNESCO

2)SEBI , WHO, WFO

3) WHO, RBI, UNISEF

4)RBI, SEBI, IMF

The institution which estimates and
publishes the National Income data of
Indiais

1) Reserve Bank of India
2)SEBI
3) Central Statistical organization

4) Finance commission

Identify the service sector among the
following

1) Animal husbandry
2) Construction of Building
3) Fishery

4) Educational institutions

Farmers get ‘crop insurance’ in the
following situation

1) Farmers get low price for their crops
2) Forrepayment of loans by farmers
3) Atthe time of loss from all type of risks

4) Farmers plan to develop the land
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43)

44)

National income means

1) total value of goods produced annually
inacountry

2) total value of services provided
annually in a country

3) average income of the people of a
country

4) total value of goods and services
produced annually in a country

The enterprise in which investment in
plant and machinery is limited to 25
lakh rupeesis called

1) Micro enterprises

2) Large scale enterprises

3) Medium enterprises

4) Small enterprises

45) The main reason for decreasing

46)

attraction in agriculture, forcing people
to give up farming is

1) Migration to cities

2) Increased interest in other occupations

3) Problems faced by farmers such as low
income, low production and debt

4) Increased employment in industries

The scheme introduced to provide loan
facility to small and start up
entrepreneur is

1) Pradhan Mantri Gram Sadak Yojana

2) Mahatma Gandhi National Rural
Employment Guarantee Scheme

3) Pardhan Mantri Fasal Bima Yojana
4) Pradhan M antrit MUDRA Yojana
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47)

48)

NITIAYOG is establish for this purpose
1)Giving specific direction to the economy
2) Preparing long run vision strategies

3) Control the financial system

4) Initiated the economic reforms

This increased the production of
products

1) urbanization
2) barter system
3) division of labour

4) agriculture

49) “Inversion of temperature” means

1) Temperature decreases as height
increases

2) Humidity changes as heightincreases

3)In some special situations the
temperature increases as height
increases

4) Pressure decreases as the height

increases

50) The spring that throws hot water and

steam in to air at frequent intervals is
1) Hot springs

2) Geysers

3) Perennial springs

4) Intermittent springs

193

47)

48)

49) ‘v

50) C03TRY JTe

R GRBREMTT, YDIWERRLADIR)TT
wuded

1) ©6FE TSR IR OF eRPTEN

2) DeTOFT G OI

TRLEDYTT/N
TeeTAT FIHODED, AODOGWITTYN
SRFD *:omd%aﬂbaﬂa% m@ﬁ@@m@d@éﬂ

WoTwew o,
3)

4)

FENTYNTY
%agd:‘nﬁosa 03

ST W@m@p’&"odaa‘i{

1) 3R0e33ed
2) BRIITOD B
3) Zvagnd

4) 3

mesozﬂ QTJOFODN” NOTB

@36 %zsacjoé 5] os
mﬁao:’mm@m

D)

2) QB8 TwRWOZ Ie003TY

W TCRBROIPORHT

SNctef %mcﬁoé DJeR
em"?oé &mﬁ@cﬁo

3) AR FBeBrTY

4) 2T TePBOZ LITB FRFRBRYD

T RO VAT )
sﬁoﬁm& DBOIN0T 28ENTH

1) DAVEOT B30T
2) NeFT R
3) ATOBT 280N

4) QONZTTDT WLNTONE




NMMS-SAT

GEOGRAPHY AND ECONOMICS

Key Answers

QWER:- Perece 5323%5 DI @ﬁ?%i

BPO |wvgoriss| BAo |wvdonww| BAC. |evdoned| TR0 | cwIshed| TRO | cv3shed
1 3 11 2 21 3 31 2 41 4
2 1 12 3 22 3 32 2 42 3
3 3 13 2 23 4 33 1 43 4
4 4 14 1 24 2 34 2 44 1
) 3 15 1 25 2 35 1 45 3
6 2 16 2 26 1 36 1 46 4
7 3 17 2 27 1 37 4 47 2
8 2 18 2 28 2 38 1 48 3
9 1 19 4 29 4 39 4 49 3

10 4 20 1 30 1 40 3 50 2
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